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PART—A / I
( Statistics for Economics )

( SRR AR~ )

1. Answer the following as directed : | . 1x6=6
wore FRIRRA e ved f - R |
(@) What is meant by economic activity?
Gl Fm-Fw I |

(b) Data which are collected by the mvestlgator for the
first time are known as primary data.

( Write True or False ) -

m@mzww&w\emmﬁ? w2 p1el & T |
(vm A =Rem fordn )

(c) Mention one source .of secondary data.
(Ml SR 51 B N TCEY I
(d) Find out the mode of the following :
ToR O o[l I WA 0
1,2, 3,4,4,5

1
|
|
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(2) (3)
(e) Largest item — Smallest item = ? {' 9. Represent the following  data by a frequency distribution
il .
TR TR ~ oSN R = ? table : o 4
. ' o SYRM TSl Ko ofeRm sizre Segem 3 :
(/) What is meant by statistical project? ) - A
iR 16 25 10 19 37 45 26 24 46 09
| R s e o 2 | 29 33 32 13 26 46 36 25 17 39
2. In what way is Statistics helpful in Economics? 2 Or / &[1
iz s s seEe 379 A ?
. R | Draw a histogram from the following : 4
Or / 91 Y
. . So YIRS °f1 b1 TSN A 0
Mention two characteristics of Statistics. 2 I W (.' 3 6_10 ' 10—2b 20_30 3040 | 40-50 | 50-60 | 60-70
) ) ages (in 20~
ARoreaT 51 258 oz 1 | vt (519) ' '
3. Mention any two advantages of diagram in data No. of Workers 4 10 14 | 22 32 15 3
presentation. o f 2R R
o Tergres foag & m@&ﬁmwiﬁll | 10. What is' scatter ' diagram? Draw a perfectly positive
4. Find the median from the following data : 2 ] correlation with the help of a scatter diagram. o 2+2=4
o O RS NI Nefy 2 | ﬁ%ﬁ#fﬁaﬁsvaﬁﬁ@4ﬁmwmﬁmﬂwwmﬂwl
10, 6, 15, 2, 3 | - or/wm
;
S. Mention two characteristics of an ideal average. D) ' With the help of the following data, calculate index
S ST 71 WWW | H numbers for 2014 taking 2013 as the base year : 4
2013@%&2#&51?1 ta—mwﬁﬁa«w 2014mm51m@s
6. What do you mean by Lorenz curve? State one use of L N
Lorenz curve. 1+1=2 ! '
G @ IfoieE & 3519 Commodity Pricein 2013 (¥) | Pricein 2014(®)
. T&? T8 “'lq 1 SR o . 8 w1 (510) 2013 w19 (59T8) 2014
7. What is mean deviation? Mention one merit of it. ~ 1+1=2 | A 0 130
% oo R 2 |mR @y R4 SeE 1 | B 145 200
Disti h C T 100 145
8. Distinguish between census method and sampling method D 180 275
of data collection, 4 E 85 150
PRt “rafS S TN “rfeq srers 2t #IR B |




11.

12.

13.

(4)

Find out the mean from the following data : 4

wors SPRAT o[ Wy Aefm +=1 ¢

Marks : 020 20-40 40-60 60-80 80-100

q79

No. of Students : 5 15 30 12 8
RG-SR

Mention the necessary steps for developing a project.' 4

<51 2% 2REfeq AT ACASR TP S 9 |

What are the measures of central tendency? Why is

arithmetic mean considered as ideal measure? Which

measure of central tendency is the most representative?
2+3+1=6

@@uﬁqﬁwmwﬁsﬁs?wsaﬂwﬁww*f@mﬁsmﬁ@ﬁ@
2 7 (TN 2T (ARERI @M wbiRelE i 7

Or / %4l

Calculate the standard deviation from the following data : 6

wore Wl SAIRT 2191 e Rvae s 41

Class Interval : 10-20 20-30 30-40 40-50  50-60
I BRI
Frequency : 5 8 16 8 3
T
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(S)

14. Find the correlation coefficient with the help of Karl

Pearson’s method from the data given below : ‘ 6

TWwWWWWWWM@m@
g =1 :

X 4
Y

8 9 10 14 18

N
w
)
o
<
o0

N
q

Or/VW

Explain the meaning of index number. Mention ahy four
uses of index number. 2+4=6

S5pIcrd S I 1 | PRI R I ST 92 Tewy 7901

( Indian Economic Development )

( SO atafes Tamw )

15. Answer the following : ' 1><6=6

mm«wm

(@) Mention one characteristic of Indian economy on the
‘eve of independence.

-m%wwsﬁ%w@ﬁaﬁmvmwn

(b) Name the body which formulates economic plans in.

India.

SREe AT ARTHN 2ES T SRR 15 Bt |

(c) What do you mean by disguised unemployment?

RN R 3o [ @ e
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16.

17.

18.

19.

20.

21.

C7/46

(6)

(d) Define globalization.
CIEAPITIT Sie i |

(e) What is import substitution?
S Resea &2

() In which year did China launch the Great Leap
Forward (GLF) campaign?

(P 5% BN Great Leap Forward (GLF) Sfam <iies
c=fRe 2

Mention any two benefits of Green Revolution. -

e Reg R CPIC Y1 41 Sramy 47 |

State two common goals (objectives) of planning in India.

SIS “RETAR 101 Se=SH o (Sow) B | |

State. two important causes for ‘decay of Indian
handicrafts during the British rule.

TOR PHETS SRS ZaRem o 151 GFepf T Bt | |

Give two arguments against privatization in the Indian
context. - |

SITOT 2P e Revees 151 3 oA |

Point out two indicators of human development of a
country. .

CPTCAT QX O IR S o1 Fciers ot o |

What are the two types of poverty?
12 4RA wlRwel R o

( Continued )

o

22

23. What is

24.

25.

C7/46

(7)

. Write down any four defects of agricultural marketing in
India. o

oes R Rerm I9ER R @i wifker @6 fw |
Or / &[T

4

Mention any four non-institutional sources of rural credit
in India. 4

SRES A §9 @A 411 R @1 BRGNS Sest Seas 391 1

environment? Mention three causes . of
- environmental pollution. 1+3=4

off{e T 2 <if e 2R foRE T1e Soa 11
Or/ &7

What is sustainable development? Mention any three

strategies for sustainable development. . 1+3=4
T S 3 7 e S R e RRBT (et S v
Mention four causes of unemployment in India. :' 4

e fATEE SIfkG! TR Sray 4 |

sources of human capital. 1+3=4

WFWW%W?WWWW%@IWWI
Or / &1

Write the meaning of infrastructure. What are the two
types of infrastructure? 4

HReaIfAT S 1 1 7R 2RFIRT S & 2
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(8)

26. Mention four similarities of the economy of China,

Pakistan and India. 4
B, R e SReT wYAIfE Hifkor Py TeE 40 |

27. Explain the various weaknesses of economic reform in

India. 6
oo ST FeRa RIS [HerorTR I 01
Or / 3311

‘Mention three merits and three demerits of glbbalization.
3+3=6
CMEPIFIR DT 371 e b sriiRen Sears 374 |

28. What is organic farmmg? Identify four benefits of organic

farming. | 2+4=6
tai 3R orf R 2 2 v e B w0 1
Or / 91

Discuss the poverty alleviation programmes taken by the
Indian Government, 6

OIS DIFT 2> 31 H{grn (R ABATR S 41 |

* % %
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